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MTH501:Quiz No 1 Quiz Start Time: 11:27 AM

Question # 1 of 10 { Start time: 11:27:50 AM. 01 June 2021 )

If @ matrix equation is solved using the Jacobi's method, then which of the following is true about its main diagonal?

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the comrect option \
It has two zeros along its main diagonal. /g)
@) 4
O

\ ( \

It hias at least one zero along its main diagonal. W’
A

0 & \
It has more than two zeros along its main diagonal. \ \

It hias no zeros along its main diagonal.
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MTHS501:Quiz No 1 Quiz Start Time: 11:27 AM. 01 June 20:

Question # 2 of 10 { Start time: 11:28:10 AM. 01 June 2021 ) Total Marks

As soon as an approximate solution of a linear system is sufficiently accurate for practical work then which of the following is true for
an iterative process?
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Select the cormrect option

The process may be stopped.

The reduced row-echelon method may be used.

The row-echelon method may be used.

The process may be carried on.
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Question # 3 of 10 ( Start time: 11:28:23 AM. 01 June 2021

If determinant of a matrix is not zero then which of the following is true for that system?
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Select the correct option

The inversion method applies.

The inversion method fails.
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Question # 4 of 10 ( Start time: 11:28:38 AM. 01 June 2021 Total Marks:

A partitioned matrix "A’ is said to be block diagonal if the matrices on the main diagonal are square and all other position matrices are

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the cormrect option

nonzero skew symmetric
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Question # 5 of 10 { Start time: 11:28:54 AM, 01 June 2021 )
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Quiz Start

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

If A is strictly diagonally dominant matrix, then which of the following is true for A?

Select the comrect option

O

It is & singular matrix.

O

It is & rectangular matric

,\\\
)

[t is an invertible matrix.

[t is a null matrix.
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MTH501:Quiz No 1 Quiz Start Time: 11:27 AM,
Question # 6 of 10 { Start time: 11:25:08 AM. 01 June 2021 )
A matrix can be subdivided into sub matrices in various ways by inserting lines between selected and columns.
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2

Select the cormrect option r&\

O

elements N
L™
JIR AN
\

O

diagonals
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MTH501:Quiz No 1 Quiz

Question # 7 of 10 ( Start time: 11:29:29 AM. 01 June 2021 )

The determinant of a tnangular matrix is the sum of the entries of the main diagonal.
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Select the correct option

Trus

@)

False
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MTH501:Quiz No 1

Question # 8 of 10 { Start time: 11:29:46 AM. 01 June 2021 )

What is the maximum passible number of pvots ina '3 by 3' matrix ?

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option

o A

A
%

: O;é\, R‘\\

\

° A

'--.._____-__..
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MTH501:Quiz No 1 Quiz Start Tin

Question # 9 of 10 { Start time: 11:30:01 AM. 01 June 2021 )

Let A be a square nxn matrix, then which of the following statement(s) is{are) equivalent?

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the comrect option » /%

(b) Ais row equivalent to the nxn identity matrix. F@V
O

S

(c) A has n pivot positions. °
v

O %Q
(d) Options (a to c). \ —=
L

(@) Ais an invertible matrix.

O
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Question # 10 of 10 { Start time: 11:30:25 AM, 01 June 2021 )
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Qui

What is the maximum possible number of pivots in a 4x6 matrix ?

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3
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MTH501:Quiz No 1 Quiz Start Time: 12:42 PM. 01 June 21

Question # 1 of 10 { Start time: 12:42:16 PM. 01 June 2021 ) Total Mark

In LU-decompaosition. if A is the square matrix of order m. then the order of both lower and upper triangular matrices will be
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Select the comrect option \ ® Reload Math Eguatio
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m + 1 ° §
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Question # 2 of 10 { Start time: 12:42:32 PM. 01 June 2021 )

A sufficient condition for the Jacobi's method to converge for the linear system Ax=b

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

N
] Select the correct option (‘{@
1 A iz diagonally dominant @ O

P Q
A is non-singular \<%\“>

O

Mone of the above

A-l1s diagonally dominant
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MTH501:Quiz No 1 Quiz Start Tin

Question # 3 of 10 ( Start time: 12:42:44 PM. 01 June 2021 )

Anmxm matrx is onlby square matnx that is both unit lower triangular and upper triangular.

Select the cormrect option w

scalar , \<()
O \\0

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

null
S

identity K

diagonal

O
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MTH501:Cuiz No 1 Quiz Start Time: 1.

Question # 4 of 10 ( Start time: 12:42:57 PM. 01 June 2021 )

A homogeneous linear system always has the trivial solution; there are enly two possibilities for its solutions:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

N\

“ 9
X Select the cormrect option A
i |
: None of the above Q;\
Both (a) and (b)
The system has only the trivial solution. \ 1\\
The system has infinitely many solutions in addition to the trivial sclution.
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MTH501:Quiz No 1

3

Question # 5 of 10 { Start time: 12:43:10 PM. 01 June 2021

A null space is a vector space.

>

d N

) 2

] Select the comect option o OO)

A False N
True
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Question # 6 of 10 { Start time: 12:43:21 PM. 01 June 2021 )

LU-factorization is used to solve systems of linear equations or calculate the

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

S
Select the correct option N
row A A\ .

O

O

diagonal “ o

determinant
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Question # 7 of 10 ( Start time: 12:43:35 PM. 01 June 20217 )

What is the maximum possible number of pivots ina '3 by 3' matrix ?

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3
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Question # 8 of 10 { Start time: 12:43:53 PM. 01 June 20217 ) Total M
Let A be the matrix of order 2X3 and B be the matrix of order 3X5.then which of the following is the order of the matrix AB?
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Question # 9 of 10 { Start time: 12:44:08 PM. 01 June 2021 ) Total Marks: 1

LU-decomposition converts the problem of solving the single system A x = b into the problem of solving the two systems, Ly=band U
% =Y. these systems are easy to solve because their co-efficient matrices are

¥ s
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Select the correct option N @

symmetric ({\
O O
O identity Q’§/ /{

diagonal \ -

triangular
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Question # 10 of 10 ( Start time: 12:44:22 PM. 01 June 2021)

The computational efficiency of the LU factorization depends on knowing matrix (matrices).

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option &

(b) upper tniangular @
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(@) lower triangular @/\
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(c) diagonal

(d) both (a) and (b)
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Question # 1 of 10 { Start time: 01:08:26 PM. 01 June 2021 ) Total Marks: 1
In matrix factorization A=LU, where L is a lower triangular matrix with any on the diagonal and U is an upper triangular matrix.
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variable L —
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Question # 2 of 10 { Start time: 01:08:44 PM. 01 June 2021 )
N
2

O
- 0
Select the correct option §@ & Reload

Which one of the following is a null matrix?
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Question # 3 of 10 { Start time: 01:09:00 PM. 01 June 2021 )

LIU-factorization is used to solve systems of linear equations or calculate the
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Select the correct option

row
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determinant
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column
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Question # 4 of 10 { Start time: 01:09:13 PM. 01 June 2021 ) Total

If A isinvertible and b in R™ be any vector. Then. we must have a matrix A 'b which is a solution of
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Question # 5 of 10 { Start time: 01:05:26 PM, 01 June 2021 ) Total b
Let T:R? — R? be transformation T(z,,x9) = (x,0). The null space (or ker nel) N(T) of T is

Select the comrect option
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Question # 6 of 10 { Start time: 01:05:39 PM, 07 June 2021 )

Let A be a square nxn matrix, then which of the following statement(s) is{are) equivalent?
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Select the comrect option ' ISV

(d) Options (a to c). \((()'
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® RN\

oA ()

(@) Ais an invertible matrix. Q)

o )

;/j

(b) Ais row equivalent to the nxn identity matrix. \

(c) A has n pivot positions.
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Question # 7 of 10 ( Start time: 01:09:52 PM. 01 June 2021 )
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Select the cormrect option
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Question # & of 10 ( Start time: 01:10:04 PM. 01 June 2021 )

For which of the matrix, the Gauss-Seidel method is applicable?
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Multiplication of a partitioned matrix by a scalar is also computed
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Question # 10 of 10 ( Start time: 01:10:25 PM. 01 June 2021)
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Gauss-Seidel method is similar to the
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